RIGIRNAY - XKk K50

(527]
T B | w8 K % G B | & &
25m| 1144 N i ®m o | ok & E B
oo |som| 254 B B x m | EhirETH | & © & | R
100m 55.70] #& U B aR E B & 5 W SC B B H27
200m| 2:01.48] &= H El B & &b s C N H22
I = Y M| o415 AAY| £ & B | Hs
som|  2830] B W @ % | 0 ¥ = & 4 | & 8 & | H20
Lo 25m| 1407 ® w_ @ % |31 F = & B | & © & | Hoo
¥k ® [ som| 48|l @ ® ® & |®m AME S5
100m| 1:06.80] = H El B & &£ hH s C N H22
oot 25m| 1284 B W 8 | A A T E | A6 o8 k| HIO
som|  26.06] B f & A B | AWMU - > X | £ & | H6
xr |toom|_seal B W @ A m| xm<u -S| & @ & ]| Hw
200m| 2:14.92] & U B aR E B & 5 W SC =] ] H27
5m| 1172 B 0 M MmN E S
. som| 2559 @ m = — g | s P s | = & H22
B @
i0om| seoo| B ® & = | s p s | & o H22
200m| 2:06.48] T M M| & B 1-0-C| & 8 &]| Ho
= o o® 25m 1444 H im B % EWBI-O0 -C
som|  28.08] & & M| 045 A4V | & © & | H6
Jea 5m| 1341 = & 2B % | & B B @ m | AN R | R4
wokz | som| 3033 = & B ® | E W ® & m| A R | R4
oom| 10392 &= & ® % | & B & @ m | A " | R
o 25m 12.19] # X N S P X/ 1T7 I = SR K H21
5754 .
som| 2639 B &M B | ®m AN E 5
i | Loom|_ss03] E 5| 7 5 7 S & B | mEtEB | HB
200m| 2:26.95| & H = B EATREI® YRR -Y H24
25m 12.04] % H aE & s C ~x YU > YRR -Y H24
o owp |som| 2562l A ® & — | E®1-0 - cC
P 100m]  56.03] A ]l s P21y mwrFrex]| Ha
200m| 1.57.68| #t i i E O - C N H22
= o % 25m 13.85] /v & e E IF I O - C
som| 2797 & # W |0 4 5 E B | & © & | A0
soma 5m| 1471 & B ® X | B N s & & & R
ok & 50m 31.94 B & ®RO= > - X > X R H23
100m| 1:09.31] & H F O ) P S B R K H22
T4 25m 12.47] % H & & SC ~N ) > R H26
50m 27.47] & H aE & SC ~N )/ > R H26
AR — 100m| 1:02.44] /v & e EWBI-O0-C
200m| 2:18.52| #t i i EWBI-O0-C 4 i H20
25m 11.76] /v & & — EWBI-O0-C K A B K H19
R 50m 24.94] /N & & — EWBI-O0 -C K A B K H19
v toom] 5833 &£ m & &H[sc v v > ## &] R
200m| 2:12.24] %&£ H aE & SC ~N )/ > R H29
= o o® 25m 14.09] /v & e EllmI-O0-C U i H20
50m 29.91] /v & e EllmI-O0-C h i H22
s5ms 25m| 1540 @ w B B |9 5 XA K - v | & ®© & | Ho
ok & 50m 33.23 & K g8 17 s - P S R H23
100m| 1:09.97] Wb & B B wee P s cC R H23
N 25m 12.86) & O B M D e a r s | & t# & H26
NE5I54 -
som| 2744 & W & B | > - < > X | & ® & | H30
AR — 100m| 1:03.78] /v & & — E & I 0 C B = R K H21
200m| 2:19.69] 11 = A 1k J 4 Z R H R H23




RIGIRNAY - XKk K50

(527]
T B | w8 K % G B | &R
25m| 1163 N @ & — | EBI1-0-C| & & & Hs3
B om 50m 26.62| & =T F E s . P . S R R1
100m 56.10] /v & e EllmI-O0-C R H26
200m| 2:02.84] H F = > - X ¥ X R H30
o | 2om il wm @ m ¥ | s p s | & ® @ | Hs0
som| 3147 & @ ® ¥ | S p s [ % ® ® | R
Ao 25m| 1594 © m = & | B B & ® &| B B | AL
ok x [ som| 3314 W @ ® _— | 3 ¥ HER H22
100m| 1:11.24] b & B B we P s cC YRR -Y H24
N 25m 13.001 = ¥ - E > - X > X K A B K H19
N9T54 -
50m 2831 X - B > - X > R - N H22
EASKL— 100m| 1:08.89] & H R ¥ ) P . S R R1
200m| 2:29.16] W & B B w & @F ¥ SC R H26
25m| 1278 ® B = — | F - L 5 > % | & ® & | H0
oo |som| 27all ® B 2w — |7 - 45 > % | & ® @ | o
100m| 1:03.07) ' X = # | F - L B R | & B H27
200m| 2:16.57} W F # Al 1 +F = E 5 R H30
= o % 25m 15.17] ® H £ — F - AT > * R H30
50m 33.90] X & B BE 9 "7 435 >R E P H16
dsas 25m| 1524 B 4% @ — | E W1 -0-C| & t & | H%
ok # | som| 3340 W % — | EWI-0-C| % ® & Hos
100m| 1:22.44] H R IE & £ F M S C I = & K H21
. 25m| 1361 N o ® & | F - L B B | & ®© & | Ho
som| 2969 R ®m X mW | > - < > X | & ® & | H2o
EAARL— 100m| 1:09.65] W F # Al 1 +F = E 5 R H30
200m| 23707 B & & ® | F - L % & | & # & | Ho
25m 12,12 & %¥ R DI A B LO R R1
H M 50m 26.13| ® B R DI A B LO R R1
100m| 1:05.00] /I i — F - LT > F R H30
200m| 2:21.69] & & # 8 | 5 - L 7 > ¥ | & # & | H30
2 s ® 25m 16.24] X ™ B BE 99 ! SASEBO I = & K H21
som| 343/ B % 2= B | F - 4L 7 > | & & & | Rl
oo 25m| 1537 W @ — | 5 - LAANC | & B & ]| Rl
Fok& | soml 345/ 8l m & — | 3 F = & B | & # & | n30
oom| 12093 B & = ®m | F - L 5 > % | & ® & | R
. 25m|  1366| B = & % | E®1-0-C | #% © @] Ho
50m 30.98] /I i — F - LT > F R H30
q |toom| 1303 B ® m m |y - 5> s 6 ® & R
200m| 2:37.60| & & # 8 | 5 - L 7 > ¥ | & # & | H30
25m 14.10] # = X & > - X ¥ X =N H22
B om 50m 30.05| B H B W t > b 353 0
100m| 1:10.74] W O B OE | MEI7TIU-X | K =] H14
200m| 2:36.71 W O = & | % ok & & B
a o® 25m 16.39] & H E > - X > R R H30
50m 35.17 & H S > - X ¥ X R H30
55259 25m 16.69] /v 1l m F > - X > X X AR K H19
ok & 50m 37.75| KX & #o Al > - X > X I = SR K H21
100m| 1:27.29] /v LW M F > - X ¥ X wEESB H18
RIS/ 25m 1411 F A M oz 99 ! SASEBO I = & K H21
50m 31.36) B A M 2 | 99 ' SASEBO | 5 F B K H21
EAARL— 100m| 1:17.15) % g5 % > - X > R R H26
200m| 3:08.42] 1N @ & R B | 1 F = & W | & # & | H30




RIGIRNAY - XKk K50

(527]

e B | w8 K % G B | &R

25m 13.55| ® H - B K I S & B N H22

B om 50m 30.23| #& A ® K > - X ¥ X - N H22

100m| 1:11.43] #& 5 ®m K > - X ¥ X B = R K H21

200m| 2:37.95| & g¥ % > - X ¥ X R H30
o w 5m| 1704 # B & M| & W s _C
som| 3664 42 & M | & W& s C

comts 25m| 1655 &% A B B |6 v N 2| & &

ok & 50m 37.43] /v Wi ! oF > - X ¥ X B = R K H21

100m] 1:25.80) + H a2 > - X ¥ X R H26

N 25m 1429 #& A ® X% > - X ¥ X K A B K H22
N9T54 -

50m 32.26| & A ® X% > - X > R K A B K H19

NS T RECECED BN Fls - < v A w® & Ho

200m| 2:56.79| & g5 % > - X > R 4 s H28

25m| 1434 m ox B REB|> - < © X |8 B | A

B 50m 31.62] & sk R X BB > - X > X wEESB H18

100m| 1:13.48] % JIlL = X EB =3 W2 S C K A B K H19

200m] 2:46.08] & JIIl = XK BB | E W&/ S C B F R K H21

e onx | 2om ol R % m |k & s c|w = | i

som| 3934 2 B % B | % @ & k I | & B & | n30

c56o 25m| 1775 B A& B B | A7 -LEER| ¥ F | A6

#ok & [ _som| 3039 & w_m x| > - % > X | & W] nw
oom| 13699 ® = % ® | NAs__ B

IS4 25m 1481 # A ®m K > - X ¥ X R H26

som| 3242 5 5 @ % | - < © X | & ® & | noe

Bt | oom] L2051 5w | - v > 2| & B &| R

200m| 3:18.41 & JIIl = X BB =3 W2 S C K A B K H19

25m 14.06] & Xk R X BB > X > X I = & K H21

B 50m 31.79] & sk & X BB > - X > X B = R K H21

toom| 1237 & ® B B | F - LAAN: |k B & RI

200m| 25139 % Il_% A® | & W S _C |t & B | Hs

o % 25m 20.53] X ¥ R 17 we P s cC R H23
50m 4471 s H ©F A | m & K &

s 25m|  1856| m w A % | > - < > X | & ® & | R

#ok & [ som| atso| & w_m x| > - % > X | & ® &] R

100m| 1:37.78] % % — | @ = m K B | 9uin -y | Hoa

IS4 25m 1471 # A ®m K > - X ¥ X R H29

50m 34.13| # A ®m K > - X v X R H29

xr |toom| 12738l B I ¥ xm | & ® s c |t & B[ hs

200m| 3:1324] B % A ® | & W S _C | & # & | Hs

25m 1470 # ¥ Mm A B & &£ hHh s C I = SR K H21

B 50m 33.02] JII #0 g — Team GENNKI R H23

toom| 11622 B I_® A B | & %W S C | & © & | H30

200m| 25174] B = A B | & W S _C | & # & H30

= o % 25m 21.16] W & Z A x5 > 2R B R R1

50m 48.13] = ¥ R 17 we P s cC R H29

e 25m| 1019 % m & ® | ®m & W SC | & # @ | Hs

¥k # [ som| 4330 & % — |7 - L & = | & ® & | 1o

100m| 1:50.10] E = B | % ok ® & W& | 0 R | H20

oot 25m| 1636 B Il_® A B | & W S C | % ® & R

som| 4505 ®_m__® A |7 - L B B | & ® & | H3o

x| oom] 13021l B N ® Am |5 B s c % ® &]| R

200m| 3:23.90] % JIl = X HB = iz ) C R H30




RISIAVAY - X KK KRECix

(BF]
7 B FERIEE K 4 i ® 15 R =
25m 1591 &% Xk & Z— BB > - X > X 1 B R R1
q som| 35.72] & % —|J S B & & | " | R4
100m| 1:39.92] % = m|sc < o > |# t & H2
200m
s 25m| 264 m ok B - | > - v > X | & # & | R
50m 56.44] s5h E K 5 2N 23 - ¥ =] = H17
somgs 25m|  20.28] % % —|J s B & B | N & | Ra
ok F som] 5251 v N A | ¥ - % > X | £ # & | H30
100m| 1:4055] B N = AWM | & W s cC | & " | R4
95 2sm| 179/ B o & & |F - o B B[ £ Ri
som| 4001 N = xm [ & B s c | R | Ra
ik | 0om| 13480 % 0l = A | & W s c | R | R4
200m
2sm| 2089 ® = % |sc v o >|# t & Rt
B —
100m
200m
B ok 2 2m
N 50m
85~89 2>m
E ok F 50m
100m
o 25m|  23.29] 2 ® m|sc v u >|# t & Rt
NN5T54
50m
AR~ [
200m




RIGIRNAY - XKk K50

(ZF]
& 8 BB iC % K % B % Fh F E
25m 13.62| & Il U e - K SC B 7 B Kk H21
5 50m 2798 ¥ Xk & W b bR = A & | FE #® &R H30
100m 5004 B 1 B | A H SPIRIT | & # & H26
200m| 2:23.73) X H m|E - K sC|®FBEK H21
e 25m 1584 8 K & #H | EW®I1I-0-C
Bk & -
50m 3.0l m & =B F|E - K~ sC
Lo 25m| 1728 & 1 » @ | € - K & & | & ®© & | H3
ok & 50m 3738 A B = F | > -z2R-v| B = H17
100m| 1:22.17] & @B B F | N I T K
RET54 25m 14.10] 72 H R £ - N SC
50m 31.18] /A H B\ OB ES | =] = H17
B — 100m| 1:13.16 /‘\ H & B | =B = =] B H17
200m| 2:56.74| ) mlw & @ » sc| B 3 H27
25m 13.70] @ M ¥ S . P . S L P H30
5 50m 29301 &= I X & A =X A4Y i H29
100m| 1:05.30] = I X & A =X A4Y FE #® &R H29
200m| 2:2357 mE F wmI| > v F sCc| & 3 H15
o 2 25m 16.44| = % | B B IR H21
50m 3404 % B »H ¢ H | XN T 3 - v | E = H16
Jera 5m| 1775 & #® % = | & W1 -0 -C | xio&k]| HI9
E ok F 50m 40.09| @ H + E 2N T 3 -7 F =l H16
100m| 1:2940 @ & F B | vaxs5s —x4v | £ B B H25
o 25m 13.86] & H R sP X 4 I 7 B 7 & Kk H21
IN5T54 — —
50m 30.45| & M Bglse 2 4 1 7| ®BFEX H21
B — 100m| 1:15.97 uJ O ¥J? % EBI-0-C| x#3B f H19
200m| 2:4558] B B F @ L y F E B | E = H16
25m 13.77] # A 3 . P . s | & ot g R1
5 MR 50m 30.60| @ E2) F > 2R -v | =B L2 H27
100m| 1:09.56] x H X # F A 4 B B i H30
200m| 2:39.71] & a i - h A X F = N pas R4
s s w 25m 1599 #® & 2 K e a r s [V 1 S H26
50m 33.20) % = 2 K e a r s [V 1 S H26
roma 25m|  18.68] M W & & — L 57 > % | & r | Hos
E ok F 50m 42,12 &= & g & + 4 E IF L H30
100m| 1:32.31] & & g & =5 = XAV B BA H27
N 25m 14.31] @ M| ¥ P S FE #® &R R1
NFI5A - —
50m 33.42| Xk X B F 54 B OB B #® &R H30
B — 100m| 1:14.09] = F £ p - I > X | mF & f H21
200m| 2:56.40| = o OF N 23 - v )| =E = H16
25m 14.66| 7 E3 " SASEBO | & tt & R1
5 MR 50m 31.35 " SASEBO | & tt & H30
100m| 1:02.58 - X v 2| & t# & H30
200m| 2:37.65 =] ihmF - L| A 3 H27
s sy 25m 16.79 g F B 1-0-.-C| & t# & H26
50m 35.49 g F B 1-0-C| & # & H29
s5ms 25m|  19.27 5 & * 5 E W | & # & | R
ok & 50m 42.43 mE B " SASEBO | & # & H26
100m| 1:32.05 B B mwF - L | B BA H27
o 25m 15.66 X 1B 7 A 54 B B N s R4
N5T54 — N
50m 35.88 X B F A 4 B B N pas R4
B — 100m| 1:20.58 ® F - X v 2| & # & H26
200m




RIGIRNAY - XKk K50

(&7
e B | w8 K % Gl B | &5
25m| 1508 4 W@ ¥ | F - L B B | & © & | H30
B 50m 30.71 B IF B F > - X > R R H29
100m| 1:12.26] 12 ES F e - b SC =] ] H15
200m| 2:40.69| 12 ES F e - b SC =] ] H15
e onx | 2om 6ol B N ® 3 |7 - 4 B B | & ® @ | Hao
50m 35.60| B IF T > - X ¥ X N i H28
Ao 25m| 1937 % & @ & B | 99 ' SASEBO | & ® @& | RI
ok & 50m 40.37] B 17 B F > - X ¥ X R H30
100m| 1:40.10) ¥ F O W i D 99'SASEBO | B IR H17
IS4 25m 17.57) = 5] L1 > - X ¥ X R H26
50m 3883 X H B F 99 ! SASEBO ot R R1
o |toom| tmil @ s e p s - % v A |# ® & m
200m| 3:02.54] B IF T > - X > R 4 P H28
25m| 1539 B W kE F | 9> AAR-v ]| B W] His
o o |som| 10| @ = 7|t - K sc|B & | n
100m| 1:24.90] % ES F |l E - ksC| B IR H17
200m| 2:41.30] & ES F F - L Kei K A B K H19
= o o® 25m 18.40| & H #x £ - b SC B = H17
50m 40.16| & H #x £ - k SC B R H17
45249 25m 2061 M A O W HDO 99 ! SASEBO wEESB H18
ok & 50m 46.69| B8 F O W NH D 99 ! SASEBO I = & K H21
100m| 14433 B m O W Hnn 99 ! SASEBO I = & K H21
T4 25m 16.92| & ES F F - L Kei N P H20
50m 37.97] & ES F F - L Kei 4 P H20
AR — 100m| 1:23.49] B IF B F > - X ¥ X R R1
200m| 3:56.93] #& E & A £ - b SC R H23
m| 154 B8 7| A W & < 5|k B & R
oo |som| 2o M B B F |k M & < 5|k ® &| R
oom| 1675 K B ® & | F - L5 > F |k B & R
200m| 24933| A W= & | F - L5 > % | & BR[| R
2o ® 25m 18.74] & H H E D 99 ! SASEBO I = & K H21
50m 40.24] & H H# E D 99 ! SASEBO I = & K H21
oo 25m|  1976| % W L £ F | N A 5 E B | £ # & | R
ok & 50m 39.18] @1 A ¥ F E B T ) YRR -Y H24
100m] 1:23.75) # X M F | E & T S| 9vamc -y H24
oot 25m| 1708 5 % 7 | 3 T = [ m | nos
50m 38.24] & M r F ad + = U i H28
EASKL— 100m| 1:31.87} W M R T MEJ7IYU-2X I = SR K H14
200m| 33006| A W= & | F - L5 > % | & #B &R| R
25m| 16,49 M M EEY TR N
B 50m 3699 = B B £ F Vx2Y 2>AEIE ot R H29
toom| 12623 = B _® = 7 | 5 B & A 3 | & © & | H30
200m| 3:15.24| = H B E F Vx2Y 2AEIE ot R R1
o= 25m 19.41| & H ® 99 ! SASEBO ot R H26
50m 41.12] & H ® 99 ! SASEBO ot R H26
e 25m| 1908 4 B 3 > 7 | m & W _sSC| B & | A7
Foka | som| 4364 WO mE®E|J s B & B | R]| R4
100m| 1:36.75| #4 & 3 > F m E B SC B R H17
NIT54 25m 17.86] I O ®BH & B ] S B K B U Pas R4
50m 4195 = B B ¥ F VxY>AEIF ot R H29
AR — 100m| 1:30.60] #2 W& 3 > F m K g SC wEESB H18
200m| 3:53.17] #® W £ 73 B EllmI-O0-C M R H26




RIGIRNAY - XKk K50

(&7]
e B | w8 K % G B | &R
25m| 1612 = 1 = ® 7 | 3 ¥ =% ® ® | noe
o w g |som| a3 E = m 3 |3 ¥ = [ m | nos
100m| 1:31.26] I B % % F E & T . S YRR -Y H24
200m| 25465 = I = ® ¥ | 1 F = E | & # & | Ho
o= 25m 19.94] & H i 99 ! SASEBO R H29
50m 42.97] & H = 99 ! SASEBO R H29
comts 25m| 1972 # W 3 > 7 | m & W _SC | ®F &k | ho
ok & 50m 45.65| & W 03I > F 3] =3 W2 SC I = & K H21
100m| 1:42.41] # I > F 53] = iz SC N H22
T4 25m 18.55] #& B ¥ F 53] = iz SC N H22
50m 43.54] = B B E F teamMNC N s R4
o |toom| Tos7il w3 > 7 | ® & W sc | & 4 H22
200m| 3:42.46| % H r E m h M SSC E I H16
25m|  1620] & I = B F | F - LAANC | & B & ]| R
A T N EEY T N T
100m| 12045 & I = ® F | F - LAANC | & B & ]| R
200m| 3:15.46] A& W " F N A S E I R R1
= o o® 25m 2031 B % ®E F e - b SC R H29
50m 4556 B % B F e - b SC R H29
c56o 25m| 209 B B =B 7 | F - LAAFE| & B & ]| R
Fk® | _som| 4665 B B = 7 |F_LAAF=| M m]| R4
100m| 1:48.68] B ® A X F £ - b~ & SC R H26
NIT54 25m 19.51] I I8 % %= F N A S E & R R1
50m 46.18| I I8 % = F N A S E I R R1
AR — 100m| 1:41.24] I B % % F N A S E I R R1
200m| 3:50.94] ¥ &4 M T | E - b SC| &FEX H14
m| 174 & m @ 7 [ - F = K| & ® & A3
B 50m 41771 s H =Z B F 3] =3 W2 SC N H22
100m| 1:35.60| & & Mm T E - b S C I = B K H21
200m| 3:37.08] ¥ &4 #M T | E - b~ S C B F R K H21
e onx | 2om 2330 B & x 7|5 B & A 3|k & @& | Hso
som| 5030 @ m E ¥ |5 B & & 3 | & B & | A3
s 25m| 23000 2 0 & F | A W & < 5| AN R | R
Fk® [ _som| 4001 %= 0 =& F [ A & =& < 5| n__ m]| Ra
100m| 1:51.10] B ® X X F £ - b~ & SC LS H29
TS 25m 2007 & A = & F 3] = iz SC N H22
50m 47.63] T I % E F teamMNC )\ R R4
EASKL— 100m| 1:43.59] I B % % F teamMNC N = R4
200m| 4:07.17] % H rE m h M SSC H23
25m 19.37] = = F ® E W2 SS B8 R H17
o o LSom| aced| = B_ 7 | € - F X | F & B[ Ho
100m| 1:47.97) B & Mm T e - b SC t 7 B H25
200m| 3:57.33] B &4 Mm T e - b SC R H26
= o o® 25m 25221 |® I W F 3] =3 W2 SC t 7 B H25
50m 55.22] ® I W F SC ~N ) > R H26
e 25m| 2625 B ® X X ¥ | > - < > X | m | Ra
Fk# [ som| 509 1 & % R | Ew#okmS | £ B B | Ho
00m[ 20715 W & % K | W@ okma | F B B | A5
T4 25m 2272l &E B = E F SC ~N )/ > R H26
som| 5921 & & 8 7 [ € - F X & | & © & | Hoe
o xr |toom| o200l & w w x| € - b sc | & ® & | ne
200m| 43180 % W & E | A M & < 5| & # & | H0




RISIAVAY - X KK KRECix

(Z2F]
& B BB Bt i F K #& Fr B B F E
25m 21.09] = = = ¥ ok R OE B B N H22
oo som| 4620 ' 3 0 T |le - ~ sc| & t @[ H2
g 100m| 14524 ' s s sz |le - +~ sc|4# t @ | H2
200m
o x 5m| 2712l m N % F | sc v U > | % # & | R
7]
y - som| 5716l m I ® F | sc < U > | #& t# & | R
8084 2sm| 3453l & B & | B EATEB| £ # 2| H23
T ok F 50m| 1:19.76] H F v ¥ ok B OE B X R K H19
100m
o 2sm| 2481 % m # st |le - ~ sc| o & | H28
N5T54 - - - -
50m| 1:01.20] & & M oI « — N SC I\ piad H28
10om| 2:08.34] E T | e - sc | st | H29
AR~ il L - X J -
200m| 42478 s A st e - ~ sc| o st | H28
25m
50m
B |
100m
200m
25
ok E il
N 50m
85~89 L 2>m
ok &F 50m
100m
o 25m
N5T54
50m
100
BAARL — i

200m




RIFIRVYZAY - XKk Ra5e iR

(55F]

# B 5 Bt it & K % i B % Fh FE
XRL-UL— (280%™ £) 100m 1:11.72) NN g - b4 - B BF - &Rk | 2 - ¥ > X | &£ R |H30
XRL-UL— (240 £) 100m 1:01.73| B ¥ - KX -5 -RE | > -7 > X | &£ KR |H29
XRL-UlL— (200%™ £) 100m 5026 H H -t -RE-FHF | > -3 | & H# K | H209
XRL-UlL - (160%™ £) 100m 54.15| /& - BRI A - Nk - F RIEI-0-C | /&£ i R |H26
XRL-UL— (120 £) 100m 53.30| & - M0 B - AR A - RWBI-O-C | ® &4 B |H22
XRL-UL - (— %) 200m 1:51.92) M E - KAH- - B X -=H BEHEER | B R | H17
L - (280 % X £) 100m 1:00.02| #& 73 - /NIl - &R Kk - 1B > =-xX X | E R |H29
UL — (240 i® X £ ) 100m 56.95| & - /NI - FE TS K |>-~3>X | & R |H23
L - (200 % X £) 100m 5276| R -5 H -FE - /MWL | ¥ - Y Y X | AMIEK |HI9
L - (160 % X £ ) 100m 4957 /i - Bl - & - /N & | RIFI-0-C | £ t & |H23
gL - (120 % X £ ) 100m 4703 BT - BT - B A - N L SPXYI7 | IBFEREK |H21
v - ( = ® ) 200m 1:4103) "EA-BHAX -AH-BH | BRAEHEHR | B R | H17

(ZzF]

# B 5 Bt it & K % i B % Fh FE
XRL-UL— (280%™ £) 100m 1:3066) B £ - K - - WX | E - b SC| & # & |H30
XRL-UL— (240 £) 100m 1:1888 B £ - B K - # - B | E - b SC | BHFIEK |H21
XRL-UlL— (200%™ £) 100m 1:0985 @ W - = - F )N - B @ | > -3 >X | k£ #K|R
XRL-UL - (160%™ £) 100m 1:11.89 SER-BFO-XH-8A | 99° SASEBO | £ t R |H30
XRL-UL - (120 £) 100m 1:07.45| KF-H@&E(E)-xH-7E(E) | V445 & i | /£ i &/ |H30
XRL-UL - (— %) 200m 2:21.94| R /N == J\ H m | 5 m| B8 R | H17
L - (280 % X £) 100m 1:3066] B £ - B K - WK - | E - b SC| & # & |[H30
UL - (240 i® X £ ) 100m 1:09.71 g - N8| - T I - A1l | NAS & IF | /£ t# R |H30
L - (200 % X £) 100m 1:0264 E NI - 2 - B Iy - 2@ | > -3 >X | k£ #K|R
L - (160 % X £ ) 100m 1:0058 £ - XKW -BIx-E )N | > -3 > X | k£ # & [H30
gL - (120 % X £) 100m 58.55| XH-HFE(E) FE(E) AT | A5 K IF | £ t# & |H30
D « = M ) 200m 2:0747 B H - BB -HFP B8N N I T K

=)

# B E Bt it £ K % i B % Fh FE
B & X F L — U L — | 100m 56.78| HE H - & ® - B H - &8 <F SPXYI7 | ® & B |H22
BEARL-UL— (160/%U L) 100m 56.80) ENl - B & -FAMN-XKNA | > -3 >X | & t# &K |H30
pi= =) ) % — | 100m 50.70| '@ ~F - X ¥ - B H - N £ SPXYUI7 | IBFEREK |H21
BAEUYL - (160w M £) 100m 56.35| ENl - A -FMHE--HKRKk | > -7 >X | BHBFEK |H21




